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o P T F A [ 59 Je7-94 § GRT g5 16 7o 597 30 &)

Please make sure that the printed pages in this question paper are 16 in number

and it contains 30 questions.

o T97-UF ¥ &lle7 & @ T 79 T FS TR # GH FAC-JRaH % Fe-IT T [E)

The Code No. on the right side of the question paper should be written by the

candidate on the front page of the answer-book.

o FYI FIT P TV VG @ FXT @ YEw, F97 F HHH ST [orad

Before beginning to answer a question, its Serial Number must be written.

o FuT-YikTmr & & @] 9,9+ T 881

Don’t leave blank page/pages in your answer-book.
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o FTT-GRam & FRFT FF T A T& A g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FoT-UH T Haed [i@ W To F SHARFT FIT-YH G I FE A T
frd sit dmfoas g9t @ Rl 9¥ el Jre @7 9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not

write anything on question paper and don't make any mark on answers of objective

type questions.

o YT F97 % I 37 @ g4 TE FARAd F A F Je7-97 [ T & 8, ThEr F ITT 59
G 5 g 4 @ w@hwre T A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

qie: () T e & gav fem

Attempt all questions.

(i) HOF 97 F ofF TP T a7 1T 8

Marks of each question are indicated against them.

(iii) 5971 % TV I HBIA &l

Answer the questions according to their marks.
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gus -
SECTION - A
[ € SO0 999 ]

[ Long Answer Type Questions ]

1. 52 g Ao APE B e B 5

Explain any five style categories.

YqT

OR

Rl Sfergite ¥ i oI 3 wk Rif

Write the procedure to insert an image in a document.

2. Besfic # fa@d X Jom 7 ofr farag 5

Differentiate between Merging and Comparing Spreadsheet.

3TeE
OR

HeCI o &l RS HTT I Ukl [T

Write the procedure to apply Subtotal Tool.

2140 P.T.O.



3.

4.

5.

2140

(4)
e # g fafaw DBMS & g #f7 we fafau

Define Database. Write any three advantages of DBMS.

YT
OR
37 Higd X Hie gy
Write a note on Data Models.
gus - 9
SECTION - B
[ @Y ST 997 ]

[ Short Answer Type Questions ]

A fheet & el a7 <o B aUH B

Explain any three tools of Image Filter.

Sigife & ol @ T F B AR R

Write the procedure to resize objects in a document.

2140



6.

7.

8.

2140

YqT

OR

Sgife § ST @1 Qe B 3G & AR @ i A

Explain any two settings for positioning an image in a document.

frfafag & yam foRew :
() HalaST BHRM

(i) IU AR TRTARA

Write the use of the following :
(i) Consolidate function

(ii)) Group and Outline

Sl forad gT, What-if RRE &1 o9 &3

Explain what-if scenario by taking example.

Jere forad gy, WEHd ‘b’ &l guie Y|

By taking example, explain primary 'key'.

2140
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9. =1 @ 9viF X : 3
(@) 9@
(b) Ruateq

<

Explain the following :
(a) Table

(b) Reports

YqT

OR

PiesT ‘B AR FwHe ‘B H =R R
Write difference between Candidate 'key' and Alternate 'Key'.
gls - 9
SECTION-C

[ SAfereTg SRR 9 ]

[ Very Short Answer Type Questions ]

10. dfed) i gRemn foraT) 2

Define Entity.
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11. FYX | FH H L BN anil @ @red Ten i) 2

List any two health problems while working on Computer.

12. G&ASd Sqd9HT 1 & 7 2

What is sustainable development ?

13. SEHl & B & BRE AU 2

Write any two functions of an Entrepreneur.

14. Tesiic § Aepr o afRam R 2

Define Marco in Spreadsheet.

YqT

OR

ST T % foe & oo it

Name any two tools for data analysis.

2140 P.T.O.



15. xed #1 ¥ ?
What are templates ?
STr
OR
9 ATB Hee (ToC) P FIT T&T 8 ?
What is the need of Table of Contents (ToC) ?
gls - §
SECTION-D
[ FgS O ]
[ Objective Type Questions ]
=T ge7 % el lawed giaT -

Choose the correct options of the following questions :

16.

2140

JPG a1 JPEG ® T &Y ........... 2l
(a) SifEe BIEEMES THRIICE T
(b) i =R wrgE go

(0 Sige BIomis THued g
(d) STEC BIEHThS THRAUSE ST

2140



(9) 2140

JPG or JPEG in image format stands for :
(a) Joint Photographic Experts Graph
(b) Joint Picture Experts Group

() Joint Photographic Experts Group

(d) Joint Photographic Experts General

17. T H .cooeee, e & fopt RS 1 gt fear o1 @ 2 1
(@) 9Me
(b) &
(© <™
d) &=
Macro recording can be enabled from the ............ Option in the menu bar.
(@) Sheet
(b) Data
() Tools
(d) Window
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18.

19.

2140

A H e ]’ & g B

(@) IS

(b) RS

( C) ‘Eﬁ’

(d) uFed

A his represented as rows in a table.
(a) Field

(b) Record

() Key

(d) Entity

STEE F A BT T I ..o 2l

(2) w0 (b) R
(c) wiH d) P
AL is a question asked from a database.
(@) Query (b) Report
(¢) Form (d) Field

2140



20.

21.

2140

(2)
(b)
(©
(d)

(b)

(d)

(11) 2140

....... refees fafher & 1

PiET B ol IR dp AW 3
difed &1 & T wWE @

(@) X (b) A

T (2T & (b)

....... is First Aid.

Temporary and immediate care given to victim
Permanent care given to victim
Both (a) and (b)

Neither (a) nor (b)

....... BAR 3TEX 3 99 Pl TaANid HIAT & O BH o Edl Rl Ui Hd & e IRG

YT B ’

(d)

S
Ah-Tifeas™
faferet

...... refers to the force within us that pushes to achieve our goals.

Stress

Anxiety
Self-Motivation
Ability

P.T.0O.
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R &7 4Ry -

Fill in the blanks :

22. ICT®H T &7 ............ Bl 1

Full Form of ICT is ............ .

23. A HE X At B BRI ............ g Fhal 2| 1

Loose cords and wires can cause ............ .

24. TH THA Bl ..o S AR fefle ‘B T feclie fear o ae &) 1
An image can be deleted by ............ it and pressing DELETE key.
0% 9= F I g -

One word Answer :

25. I8 9 & 4UE Bl 1

It refers to the collection of cells.

26. I = [HA FM F BN H A 2 1

Words that are used to show some action.

2140
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27. & Th N & B B & Ao B GG Bl & AR 309 FHaAAl B G, @A AR
A A 2 1

It refers to the working environment at a company and includes the safety,

health and wellbeing of employees.

=it g7t (28 @ 30) 7 & F&7 &, GIHT (A) 3T B (R), 717 [T T F9GFT [y
# 797 VG §U J9il % TV -

In the following questions (28 to 30) there are two statements : Assertion (A) and

Reason (R), answer the questions by choosing the appropriate option given below :

28. HANEHET (A) : AMTEH TOR Aifads a1 Red =&l 1 ST 6T AT e & STeM-SeH
2| 1

SR (R) : R-Aifgs GO Tdhd T4 99 R & @9 &, @el, 99 9 o & =9 & 2Bran
2

% -
(a) SARMFET (A) T BRI (R) I 9 & 3R BN (R), SA¥HAT (A) & & e 2

(b) SIBTT (A) T BRI (R) AW T &, Al BRI (R), STHAT (A) Bl TE AR 7
2|

() SRR (A) T &, BT R (R) ST9H B

(d) STRERSN (A) ST B, QAfhT R (R) T B

2140 P.T.O.



29.

2140
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Assertion (A) : Non-verbal communication is exchange of information without
using spoken or written words.

Reason (R): Signals and messages in the form of gestures, postures, touch,
eye-contact are used in Non-verbal communication.

Options :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (4).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

R (A) : STH-STTEHAT STTYH A SN HHANNRET B Jeear 2 1

HROT (R) : QA Sedd a1 Taded el ol qahdll
&
(a) SARMFET (A) TN BRI (R) I 9 & 3R BN (R), SA¥HAT (A) & G& e 2

(b) IR (A) T BRI (R) AN O 8, Aldd BRI (R), ARHIT (A) H T2 e Tl
2|

() SINERN (A) T &, AfPT R (R) ST9H B

(d) IfEeE (A) STEE &, AfBT FRT (R) T B



30.

2140

(15) 2140

Assertion (A) : Self-awareness identify your strengths and weaknesses.
Reason (R): There cannot be Internal or external motivation.
Options :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (4).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

SAPHI (A) : TERE FYX A W dIfed 31 & g T T8 B 1
PR (R) : AERE Y GWH B S 2T H JHAN YgarT &l

w -

(a) SARMFET (A) T BRI (R) I 9 & 3R BN (R), S¥HAT (A) & G& e 2

(b) SRR (A) T BRI (R) AN O 8, Al BRI (R), ARHIT (A) H T2 e Tl
2l

() IRwe (A) 99 2, Afhd BT (R) o1 2

(d) STRERSN (A) ST B, QAfhT BRY (R) T B

P.T.0O.
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Assertion (A) : Viruses are not threat to the data stored on Computer Systems.
Reason (R) : Viruses are computer programs that damage the data.
Options :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.



